=7 =
BX n+ %
1. T %4 RS /NP E AR = L — X — B B
2. i 1 Y5 At Keog i EN RS ET— T H40-1
3 T 1] BHFERE HS SFn 84 9H 28HFET
LR T (A 11.36m A 34.08m B EE3pEAR)
4. T H i % SR B EEIE T H GRS 6.1l IENEAE 6.11m SEEEEE)

FRCOBUIEEE TR ICHEOAME T SR T3, PEARELR T3 fth




RIS /N E R L RN — X — B T TEAAS R R N AR E
et (L4e#) 4 57,724,700 |1
T A #% & 52,477,000 1
THE B AH %0 4 5,247,700 Y




& ¥ BN EREER I LA—A—KREMISE No.
£ b i = E Hf i ] i
Ry
1| BT 1.0 2y 34,049,205
| EXER L 1.0 K 2,583,452
ID| H¥hkazdin T 1.0 =X 970,018
RN X e 37,602,675
/\@%
ImER H .o = 2,566,693
| B g 1.0 =X 5,774,821
— e B .o = 6,533,264
HmErE 14,874,778
&t 52,477,453
TSk T #EC 52,477,000
THE Bl A 4 %A 5,247,700
waet (L) 57,724,700




No. 1

£ ¥ BN ERBAER I LRA—4—%EMTIE
% o i =z # = Hfi B & %8 fis
I |BETS
Al |mLN—F—FE T 1.0 =X 32,441,183
A2 |BlHE=EMTHE 1.0 &K 1,608,022
&t 34,049,205




£ W BN ERBERI LAA—42—REMTE No.
4 L 1 = 2 Bf i ® 2 %
Al [TLR—2—KRETE

Al-1|E B R TgE .o = 1,326,184
Al-2|L-FHETE .o K 215,017
Al-3|#6f5 T .o = 277,248
Al=4 |27y —p-BUpe T & .o K 871,740
AL-5|8B T 1.0 =& 1,879,547
Al-6|BESa 7) - T3 1.0 = 3,475,312
AL-T|BhAK T2 1.0 = 547,579
Al-8|& BT 1.0 X 4,831,606
Al9|EELE 1.0 =& 471,060
Al-10|PNEE - BREE T 5 1.0 =K 288,029
Al-11|AME T 5 1.0 K 174,700
Al-12| H Rk T = 1.0 X 14,200,000
AL-13[Hs - Ly 2 1.0 =X 3,883,161

pen 32,441,183




% BERNEREERT LA—2 —REMIE No. 3

% o i =z # = Hfi B & %8 fis
A2 (ZiEEEMTIE
A2-1 [ BEHEARGE - SM i - (L == T 1.0 =X 1,381,848
A2-2 = - Loy 1.0 &K 226,174

1,608,022




4 R FRRR NFAR B E L R — S — R E A T [FFNER] No.
4 PN fii C: = | HT i ] #H i
ER I L4
1| AT
1-1 |EEAT %A 1 =X 498,600
1-2 (B I35 0 1 =X 268,240
1-3 |12 1 =K 51,580
1-4 |8 1 =X 489,670
1-5 | B Bk S 2 1 =K 395,340
1-6 | 5B AR S 3R 1 =K 490,384
NG 2,193,814
2 |IMETLE
2-1 |ELT R 1 =X 164,578
2-2 |#FE R 1 =X 225,060
NG 389,638
&Ft 2,583,452




% BR RN BE R L N — X — B E ML T 5

PR

v R fiid C: g BT L= A i 4 FE I
[ Bt 3
1 o KER 1 X 216,366
2 | VHKEAN 1 K 217,193
3 | HARERAH 1 ®K 504,399
4 | HETEHE 1 =X 32,060
&t 970,018




